Ml = Ab 8 M A
0258 =Z 13 LS| JIEISESA = AN~ BtsollSUSH
A EHLEA
FH: HHHEHE 288 29(Ed)
tel: BEES HSsH e (ALSEIH) EERED
A -3 - GRA(3) - ARAY - BES Ofl &4 I8 [ ImE=r",
EAEA 1,787,912 1,260,306 527,606
S 39,241 0 39,241
= 1,748,671 1,260,306 488,365
Heogts A2 28(EH) 1,430,3% 902,750 527,606
a 39,241 0 39,241
T 1,391,115 902,750 488,365
I s sy L (AYSESA) 732,057 519,205 212,852
E 39,241 0 39,241
= 692,816 519,205 173,611
ALY ASE & AL HES 68,661 19,954 48,707
S 39,241 0 39,241
= 29,420 19,94 9,466
401 AIEHIZ SO 68,661 19,94 48,707
S 39,241 0 39,241
[ 29,420 19,954 9,466
01 AlZH| 68,661 19,94 48,707
OxgEFAL 2 9,166 3,000 6,166
O=A 158 8k 2= 17,747 0 17,747
e 17,747 0 17,747
OSHEUSH AR 2= 8,580 0 8,580
A 8,580 0 8,580
OFEHNUMEIEH AIRA 2 12,914 0 12,914
s 12,914 0 12,914
OHHSA A NSASEX EX 3,300 0 3,300
SEAYEs I|ISsHd 23t 182,917 165,480 17,437
202 0o4dl 96.719 90,089 6,630
01 =LHOHI 96,719 90,089 6,630
ogdAEs DVIUHSSH 2ot 24,506 22,400 2,106
OAgE+Ald HIIXZA 20,803 18,975 1,828
OAgaEs &AL MW= 32,169 31,200 969
OLHEE XA 9,699 9,360 339
OSSA=ZSMI H=sY 235t 9,542 8,154 1,388
206 M=l 33,912 31,351 2,561
01 MZHl 33,912 31,351 2,561
OHEY A2F 12,440 11,500 940
O7XES 4AZE 5,625 5,200 425
O7=8s 423 13,356 12,348 1,008
OISl 22S 2,491 2,303 188
405 AtatsE = 49,286 41,040 8,246
01 TR ESFSHI 49,286 41,040 8,246
oSt 22 19,716 16,030 3,686
Oo7x=dHl 22 17,947 15,710 2,237
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H = A G Ml A
205ET X2 1 5| Yeks|H JIEISEE | SHAYA ~ BSHELHST
2N USASA
HH: YRS A% 22(LE)
Ciel BINEE (1S5 HL(ALSHE) (o) &)
A - 3 - S2A(FH) - MRAY - BES (1;| Palgely J 3 N Hlus2
ASABA 2,352,655 1,761,000 591,655
A 85,950 0 85,959
= 2,266,696 1,761,000 505,696
OIS At 22(LE) 1,045,458 1,357,912 587,546
A 85,950 0 85,959
= 1,850,499 1,357,912 501,587
HEEE (252 e (ARSEsH) 1,250,483 986,538 263,945
A 85,959 0 85,959
= 1,164,524 986,538 177,986
AEAL ASE Y AL S 97,239 3,000 94,239
A 85,950 0 85,959
= 11,280 3,000 8,280
401 AI2HI L2 CHY 97,239 3,000 94,239
A 85,950 0 85,959
= 11,280 3,000 8,280
01 Al&H 97,239 3,000 94,239
OASBAAL 22 11,280 3,000 8,280
OZLHIIFMIE SAF 2o DA} 52,849 0 52,849
A 52,849 0 52,849
OSHTIQIFMIE] 24 Bt DA} 33,110 0 33,110
A 33,110 0 33,110
HEAYSE TI|HSSS 25 187,458 168,641 18,817
202 01t 99,955 ®.713 7,042
01 =LH0it| 99,955 ®.713 7,242
OBEAYSE XS5 s 25,344 23,184 2,160
OABEAAIL HI|ZA 21,890 19,961 1,929
OAYEE OIFAID HYDS 33,840 2,82 1,018
OAZSHZA 8.723 8,424 2%
OSZABTA M25 23 10,158 8,322 1,83
206 T2 H 30,624 28,311 2,313
NEES 30,624 28,311 2,313
OBTHEY ADE 7,166 6.625 541
ORXEE ADE 5,625 5,200 425
0PZEE ADE 15,245 14,003 1,152
OMOIESEY| ADE 2,588 2,393 1%
405 KAk S| 53,879 44,617 9,262
01 XAt SEF SH| 53,879 44,617 9,262
OB RILEH| 2t 23,907 19,600 4,307
ORZEY 2 18,315 15,580 2.7%
o7PSEH 2 8,888 6.770 2.118
OAUHSSARY 2 1,702 1,600 102
BEPSEEE 499,531 348,642 150,889
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g 8 A A
us

A SoLUA
FH: HHUHEHE 288 29(SH)
tel: BEES HSsH e (ALSEIH) EERED
A -3 - GRA(3) - ARAY - BES Ofl &4 I8 [ ImE=r",
Sol A=A 1,010,268 707,197 303,071
S 50,000 0 50,000
= 960,268 707,197 253,071
Heogtis A2 28(SdH) 761,229 458,158 303,071
a 50,000 0 50,000
T 711,229 458,158 253,071
I s sy L (AYSESA) 287,146 186,376 100,770
ES 50,000 0 50,000
= 237,146 186,376 50,770
ALY ASE & AL HES 58,763 3,000 55,763
S 50,000 0 50,000
= 8,763 3,000 5,763
401 AIEHIZ SO 58,763 3,000 55,763
S 50,000 0 50,000
[ 8,763 3,000 5,763
01 AlZH| 58,763 3,000 55,763
OxgEFAL 2 8,763 3,000 5,763
O=2AN =8 Z& SA 50,000 0 50,000
ES 50,000 0 50,000
SY¥ALES DIIUHSsH Lt 119,641 107,382 12,259
202 048l 65,333 60,861 4,472
01 =LHOHI 65,333 60,861 4,472
O¥AEES ZVIUHSsE 235t 20,147 18,842 1,305
OLYEHAIE FIIZAL 13,234 12,068 1,166
OAgEs AL MW= 19,672 19,080 592
OAX~YSE XA 5,731 5,530 201
OSSASSML HEsE 23t 6,549 5,341 1,208
206 M=l 19,916 18,411 1,505
01 MHZHI 19,916 18,411 1,505
O3ty A2F 5,300 4,900 400
O7xgs 425 4,977 4,600 377
o~z=gs 423 7,944 7,344 600
OIIESEH| A2F 1,695 1,567 128
405 AtatE = 31,392 25,110 6,282
01 Tt =S F=HI 31,392 25,110 6,282
OIS EHl 22 12,119 9,850 2,269
o=t 22 11,3%4 9,500 1,8%4
ox=dtl 24 6,177 4,160 2,017
OALHESAIH 22 1,702 1,600 102
=Ll =2ZEdat 108,742 75,994 32,748
301 EtE NS 108,742 75,994 32,748
05 2ZSAHUX2EH] 108,242 75,494 32,748
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H & Ol & AF S E Al A
HE+=US

P5ET 1 5| LB JIEISEEN SHAYM ~ BEHSAHSH
NS A8 Al
L OIS A% 2o (Ep)
L HYBS 1S5 Y (ASHAN) CEERE)
SN - BE - SA(B) - NRAY - BES 0 & ol o HIRE2
8 A5t A 1,434,077 638,970 79, 107
A 6,650 0 6,650
= 1,427,427 638,970 788,457
NS 222 2 (EH) 1,206,368 411,261 7%, 107
A 6,650 0 6.650
= 1,199,718 411,261 788,457
SNES (1252 H(ALSHE) 797,584 90,600 606,984
A 6,650 0 6,650
< 790,934 90,600 600,334
EHR AN AAIEA 2 547,924 0 547,924
201 Y2y 229,820 0 229,820
01 Al 22l 229,820 0 229,820
OYNEA LT 130,950 0 130,950
OYAFA OIFE 72,250 0 72,250
OUNFA LS| 15,620 0 15,620
OUABA HIISY BIF 23 11,000 0 11,000
T EEST] 313,814 0 313,814
01 Al 313,814 0 313,814
OUABA SLAIL OIF BA} 63,910 0 63,910
OUNBA & B4 DA 34,811 0 3,811
OYAFAL &I £4 ZAF 29,315 0 29,315
OYAFA ABAIE BAF 14,290 0 14,290
OUAFA 24 B4 DA 19,568 0 19,568
OUAIFA LIS ST BAF 47,53 0 47,534
OUAEA HIISY U 2 BAF 29,502 0 29,502
OTECH SAIBA BAHE BAt 15,004 0 15,004
OSIF 19T HE X INE DA 0,010 0 0,010
OUAFA XD SF BA 49,850 0 49,850
405 THH3ISH] 4,290 0 4,290
01 XIS FSY| 4,290 0 4,290
AAFAL ZHEIOIH 7Y 4,290 0 4,290
LHFA ASE L AL H2S 12,173 3,000 9,173
A 6,650 0 6.650
= 5,523 3,000 2,523
401 AIEHI LS TH| 12,173 3,000 9,173
A 6,650 0 6,650
< 5,523 3,000 2,523
01 Al 2,173 3,000 9,173
OLYUBLAL 2Y 5,523 3,000 2,523
OFSIIGITHE XD MOl o2 B4 2
At 6,650 0 6,650
A 6,650 0 6,650
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S 29,156 0 29,156
= 10,565 7,770 2,79%
401 AIEHIZ SO 39,721 7,770 31,951
S 29,156 0 29,156
= 10,565 7,770 2,7%
01 AlZH| 39,721 7,770 31,951
OxgEFAL 2 5,795 3,000 2,79
O=2AN =8 Z& SA 19,147 0 19,147
e 19,147 0 19,147
O=Zx0 & #4=1oXal =2 J3U wH 4,740 0 4,740
A 4,740 0 4,740
oINS = £X 5,269 0 5,269
s 5,269 0 5,269
SZAYEE DI|HEs" L&t 120,960 108,484 12,476
202 04l 64,054 59,780 4,274
01 2LHoIH 64,004 59,780 4,274
oA ES DIIUHSSH L3t 20,134 18,842 1,292
OxYS+=AlE ZIIZA 12,3% 11,295 1,099
OAgaEs AL MW= 19,365 18,778 587
OALSEXAL 5.241 5,069 172
OSS2ASSMA H2s9 Lt 6,920 5,7% 1,124
206 M=l 22,407 20,714 1,693
01 MZHl 22,407 20,714 1,693
O3t A2F 5,949 5,500 449
O=XE8s AZF 4,327 4,000 327
O7=g8s A28 10,476 9,684 792
Q2 ~22F 1,655 1,530 125
405 KHaHF S| 31,49 24,990 6,509
01 ML ESFSHI 31,499 24,990 6,509
OstM L&l 22 15,073 12,170 2,903
O=Zx&Hl 2 9,568 7,940 1,628
o-=&tl 24 5,156 3,280 1,876
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M £ AR g A A
P5ET 1 5| LB JIEISEEN SHAYM ~ BEHSAHSH
S BEAA
HE: WUOILHS A2 2H(BE)
o9l HRBE (1253 HH(LUSEII) CERED
SA - B CRA(3) - NRAY - BAS 0l Ao Y o CmE==T
TR ALYA 1,470,399 963,586 506,813
A 57,800 0 57,800
= 1,412,509 963,586 449,013
OIS A%el 2(TE) 1,185,934 682,361 508,573
A 57,800 0 57,800
= 1,128,134 682,361 445,773
HZBE (1S53 HA(LUSBI) 609,774 380,504 229,180
A 57,800 0 57,800
< 551,974 380,504 171,380
ABEM ASE U AL KBS 149,843 31,430 118,413
A 57,800 0 57,800
= 9,043 31,430 60,613
401 AEBIL=ThY| 149,843 31,430 118,413
A 57,800 0 57,800
= 9,043 31,430 60,613
01 A& 149,843 31,430 118,413
LEaNL 22 5,813 3,000 2,813
OSTIIGITHE BHIL DA 60,600 0 60,600
A 30,300 0 30,300
= 20,300 0 20,300
OSIOXIA) SLHE S 55,000 0 55,000
A 27,500 0 27,500
= 27,500 0 27,500
azAgEs 2SS 2a 140,077 26,334 13,743
202 Oft| 76,354 71,619 4,73
ETETT 76,354 71,619 4,73
OBFAYES 2SS Yt 24,441 23,148 1,29
OAYBSAIM FHIIZA 14,366 13,008 1,268
OAYUES AFAD HYDS 22,433 21,772 661
OAYSHIA 6,339 6,128 211
OS2AREAK H25Y Lt 8,775 7,473 1,302
206 THE bl 23,544 21,765 1,779
01 HE b 23,544 21,765 1,779
OTY ADE 5,544 5,125 419
OREEE ADE 4,307 4,000 307
O7ZES 42F 1,73 10,848 887
OMIBEHY| £2F 1,938 1,79 146
405 RHHFSH] 37,179 29,950 7,229
01 AL SZF S| 37,179 29,950 7,229
OSHTAH| B2 18,740 16,270 3,470
ORZIH 2 11,485 9,710 1,775
072 2 5,252 3,370 1,882
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H 2 0 A G Ml A
205ET X2 1 5| Yeks|H JIEISEE | SHAYA ~ BSHELHST
SA HRAALA
I YRS A% 22(HY)
Ciel BNEE (1S5 HA(ALSHE) (crop:mel)
M- - SA(3) - MRAY - BES (1;| Palgely J 3 N Hlns
AU A 1,285,255 850,916 384,339
A 41,762 0 41,762
= 1,193,493 850,916 32,577
OIS Agted 2o () 1,004,863 626,474 378,389
A 41,762 0 41,762
= 963, 101 626,474 33,627
HEEE (252 e (ARSEsH) 549,639 377,054 172,585
A 41,762 0 41,762
= 507,877 377,054 130,823
AEAL NEE Y AL HES 64,603 20,389 44,214
A 41,762 0 41,762
= 22,841 20,389 2,452
401 AI2HI L2 CHY 64,603 20,389 44,214
A 41,762 0 41,762
= 22,841 20,389 2,452
01 Al&2H| 64,603 20,389 44,214
OAYBAAIL H2 5,452 3,000 2,452
O=A = ASHAE Hi2 DA 23,166 0 23,166
A 23,166 0 23,166
OZUIIGOHHMIE HAF FAXIEH B4 DA 18,59 0 18,596
A 18,59 0 18,59
HEAYSE TI|HSSS 25 107,820 95,990 11,830
202 01t 57,475 53,100 4,375
01 2040 57,475 53,100 4,375
OBEAYSE XS5 s 18,009 16,487 1,522
OABEAAIL HI|ZA 11,630 10,602 1,008
OAYEE OIFAID HYDS 16,676 16,157 519
OABSHE A 5,483 5,300 183
0S3ABEAR Mes 2 5,677 4,554 1,123
206 T2 H 18,163 16,790 1,373
NEES 18, 163 16,790 1,373
OWEY ADE 4,327 4,000 327
OPZEE ADE 4,976 4,600 378
0728S ADE 7,30 6,750 552
OMOIESEY| ADE 1,588 1,440 118
405 KAk S| 29,182 23,100 6.082
01 KAt 2E 5 SH| 29,182 23,100 6,082
OB RILEH| 2t 12,977 10,530 2,447
ORZEY 2 10,022 8,300 1,722
o7PSEH 2 4,481 2,670 1,811
OAUHSSARY 2 1,702 1,600 102
BEPSEEE 377,216 260,675 116,541
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2,715,154
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95,427
9,417
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1,621,685
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H & 0l & AL S Al A
2005 FA 15 LBEIHJIEISEE D EHAUN ~ BSHSSUST
2N BESHSHHSE
H: SATYUHHSHH PR(BSHELUISS)

Ol BSHSAUSH 2 (ALSESH) (crop:mel)
M- - SA(3) - MRAY - BES Ofl kel | & A Hlns
s=olsansc 521,823 326,424 195,399
SATHUUSHH PE(BSHSSUSH) 437,777 242,378 195,399

BEHSAUST 2Y(AYsSHsH) 182,783 102,811 79,977
BEHSAUST AR P2 158,912 88,925 69,987

405 XHAHE SH| 153,912 83,925 69,967
01 KAtL SE 3 SH| 158,912 83,925 69,967
OS4AIDUE PEEH 2 82,564 75,425 7,139
oAt IEFH| 2 76,348 13,500 62,848
SATY H2s 25 23,876 13,886 9,990
201 Ler2 | 3,240 0 3,240
01 AfR22lH| 3,240 0 3,240
= BUR AEE 3,240 0 3,240

202 OIH| 6,750 0 6,750
01 20404 6,750 0 6,750
OS&TL IS5 e 6,750 0 6,750
A FERR (ARSI 254,989 139,567 115,422
AULE AL 2229 150,198 78,547 71,651
201 LEt2 | 148,79 78,547 70,251
01 AlR221H| 16,143 6,770 9,373
ONERX XRZZ 242 1,873 0 1,873
OMXIZT =2 5INEL BE +42 2,700 0 2,700
OMADEM Rl =4 UXE 4,800 0 4,800

® 2z29H| 132,655 7,777 60,878
OASE A 222 7.3% 3,977 3,418
O A WiLteroizy| 34,370 21,820 12,550
02222 ¢ MAl 90,890 45,980 44,910

401 AlEHI L S HY| 1,400 0 1,400
02 22t 1,400 0 1,400
OAXI=R 2RIHY 1,400 0 1,400
AUIRH| 22|29 73,084 31,810 41,274
201 YPr2oH| 73,084 31,810 41,274
® 2z2gH| 73,084 31,810 41,274
OAgR BRlRY 43,916 20,440 23,476
OAEY| 222 13,608 5,070 8,538
02222 ¢ Al 15,560 6,300 9,260
AUD|22 XY 31,707 29,210 2,497
201 LPr2oH| 8,337 5,840 2,497
01 Al 22lH| 8,337 5,840 2,497
OYDEZA AAlOI4Y 2,956 2,280 676
oz2e M 1,912 570 1,342
012U BLOHH 1,487 1,280 207
O2LLSH (A 1,082 1,710 272




